

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657

03/29/2025 10:00 AM | Chandeliers Only 04/01/2025 10:00 AM | Install all items 04/02/2025 10:00 AM | Touchups 04/03/2025 07:00 AM | Strike PO: Shipping Address: Four Seasons Westlake 2 Dole Dr, Westlake Village, CA 91362

On site contact: Kaitlynn (310) 948-5548

IN-0007964

George P. Johnson Company 1914 Taylor Point Auburn Hills, MI 48326

Invoice Date: Due Date: Upon Receipt

Salesperson: Milana Ayvazova

Description		Qtty	Price		Total
Additions					
IT Y MA	Bars - Lyon- Wood 6'8" 6'8"W x 19"L x 43"H	1	\$600.00	Т	\$600.00
	Barback - Moscow - Gold W/ Glass Shelves & Base 43"W x 18"L x 95"H - Custom Base Color Upon Request	1	\$300.00	Т	\$300.00
			Total Additions		\$900.00
Foyer					
	Perimeter Draping -250' x 12'H in stock green hunter stretch velvet fabric, pipe and base & sandbags,	1	\$5,500.00	Т	\$5,500.00
	Valance In Stock - 140' green	1	\$0.00	Т	\$0.00
			Total Foyer		\$5,500.00
Reception					
	Perimeter Draping In Stock - 400' 310' x 19'H perimeter, 60' x 23'H, & champagne stretch velvet, pipe & base 60 lbs sandbags per base, techbooth drape low pipe & base, champagne tiebacks	1	\$9,900.00	Т	\$9,900.00
	Valance In Stock - 300' champagne	1	\$0.00	Т	\$0.00
Ŵ	Chandeliers - Hollywood - Cage - Gold gold and black rouching, 10' drop 48"Diam x 40"H - 26lb - LED 50W	6	\$700.00	Т	\$4,200.00
	Panels - Tiffany - Wood W/ Niche & Shelves 3 with shelves, 2 flat panel with sconces, painted mahogany brown high gloss, L-brackets, sandbags, 4' x 10'H	5	\$850.00	Т	\$4,250.00
	Panels - Wood & Moulding Windows Panels - Wood & Moulding Windows - 3' Extension green hunter s.velvet fabric inside the mahogany painted windows, used as stage backdrop with 3'H extension to make 15'H, L-brackets & sandbags 4'w x 12'H	3	\$950.00	Т	\$2,850.00

Description		Qtty	Price		Total
	Stage Fronts - Boston - With No Mirror - 6'x28"h painted mahogany brown for 12' W x 24"H stage 6'W x 28"H	2	\$200.00	Т	\$400.00
¥. 	Sconces - Brushed Gold Square 8.26"W x 23.7"H - LED Battery Operated	2	\$200.00	Т	\$400.00
	Sofas - London - Chesterfield 02 86"W x 40"L x 31"h	4	\$500.00	Т	\$2,000.00
	Club & Lounge Chairs - London - Cranleigh Club Chair 31"W x 31"L x 34"H	4	\$250.00	Т	\$1,000.00
	Club & Lounge Chairs - London - Concord Club Chair 34"W x 36"L x 35"H	4	\$250.00	Т	\$1,000.00
	Coffee Tables - London - Square Wood 40"W x 40"W x 29"H	2	\$300.00	Т	\$600.00
	Accent Table - Aspen - Carved Wood 24"W x 24"W x 24"H	4	\$150.00	Т	\$600.00
•	Accent Pillows leather, gold, forrest green,	36	\$35.00	Т	\$1,260.00
	Accent Pillows - Cotton - Plaid - Green 15" x 15"	6	\$0.00	Т	\$0.00
	Bars - Carmel - Straight 10' brown suede channeled front, painted top in mahogany high gloss 10'W x 30"L x 42"H - Front Options Upon Request	1	\$1,050.00	T	\$1,050.00
	Bars - Carmel - Curved 6' brown suede channeled front, painted top in mahogany high gloss 6'W x 30"L X 42"H	2	\$900.00	Т	\$1,800.00
	Booths - Built In Channeled Booth custom brown suede fabric channeled back & seat cushion, frame painted mahogany brown 8'W x 4'D x 3'H Seat Height 19" Seat Depth 17"	4	\$900.00	Т	\$3,600.00
	Small Dining Tables - Oslo - Bistro Table Brass W/ Marble Top 39.5"Diam x 29.5"H	6	\$250.00	Т	\$1,500.00
	Small Dining Table - Bistro - Travertine Top 36" placed with booths 36" Diam x 30'H	4	\$250.00	T	\$1,000.00

Description		Qtty	Price		Total
	Dining Chairs - Antique Brass Finish Metal Wishbone brown suede cushions 18" x 18" x 31.5"H	52	\$45.00	Т	\$2,340.00
¥	Stand Up Tables - London - Dark Wood 36âl Irnd x 42âl IH	10	\$300.00	Т	\$3,000.00
	Barstools - Buenos Aires - Gold chair cushion in velvet Hunter green 21"W x 17"L x 4'H - Seat Height 30"	45	\$55.00	Т	\$2,475.00
	Table Lamps - Metal & Mango Wood W/ Antique Finish 4"Diam x 11 1/2"H - LED operated	12	\$35.00	Т	\$420.00
ТП	Stand Up Tables - Aspen - Wood W/ Carved Legs 3'W x 3'L x 3'5"H	4	\$150.00	Т	\$600.00
			Total Recept	tion	\$46,245.00
Props for book	shelf				
	Antique Items To Fill Shelves	1	\$1,900.00	Т	\$1,900.00
	Stock Decor - Vintage Hardback Books - Set Of 12 Mixed Varied Sizes	3	\$0.00	Т	\$0.00
	NEW- Decor - Vintage Hardback Books - Set of 12 Mixed	5	\$0.00	Т	\$0.00
	NEW - Decorative Bookends With globe & telescope	1	\$0.00	Т	\$0.00
NII	Decor - Clock - Vintage Table Clock - Gold 4.7" x 2.6" x 6.7"	2	\$0.00	Т	\$0.00
<i>•</i> •	Table Lamps - Recycled Glass & Metal 4-1/2" Diam x 6 1/2"H - LED Operated	4	\$0.00	Т	\$0.00
	Decor - Bronze Libra Scale 4.3" x 4.3" x 12"H	1	\$0.00	Т	\$0.00
	Decor - Globe - Brass 7"W x 6"D x 12"H	1	\$0.00	Т	\$0.00
	Decor - Antique Metal Jewelry Box 2.7"D x 2.7"W x 2.3"H	1	\$0.00	Т	\$0.00

Decor - Antique Phone 10W x 11.5 D x 8.8 H 1 S0.00 T S0.00 Decor - Decorative Telescope - Brass 5D x 3W x 3H 1 S0.00 T S0.00 Decor - Beokends - Silver (2 sets) 4D x 5W x 7H 2 S0.00 T S0.00 Hand Props - Antique Typewriter 158H W 140K H x 1081 X H 1 S0.00 T \$0.00 Image: W 140K H x 1081 X H 1 S0.00 T \$0.00 Hand Props - Candy Base Antique Gold 4W x 3 5H 4 S0.00 T \$0.00 Image: W 140K H x 1081 X H 1 S0.00 T \$0.00 Image: W 140K H x 1081 X H 1 S0.00 T \$0.00 Image: W 140K H x 1081 X H 1 \$0.00 T \$0.00 Image: W 140K H x 1081 X H 1 \$0.00 T \$0.00 Image: W 140K H x 1081 X H 1 \$0.00 T \$0.00 Image: W 140K H x 1081 X H 1 \$0.00 T \$0.00 Image: W 140K H x 1081 X H 1 \$0.00 T \$0.00 Im	Description		Qtty	Price		Total
SD x 3'W x 3'H Decor - Bookends - Silver (2 sets) 2 \$0.00 T \$0.00 4'D x 5'W x 7'H 1 \$0.00 T \$0.00 1'D x 5'W x 7'H 1 \$0.00 T \$0.00 1'D x 5'W x 7'H 1 \$0.00 T \$0.00 1'D x 5'W x 7'H 1 \$0.00 T \$0.00 1'D x 5'W x 7'H 1 \$0.00 T \$0.00 1'D x 5'W x 7'H 1 \$0.00 T \$0.00 1'D x 5'W x 3'H 1 \$0.00 T \$0.00 I'D x 3'W x 3'H 1 \$0.00 T \$0.00 I'W x 3 5'H 6 \$0.00 T \$0.00 I'D and Props - Codd Crystal Candy Bowl 6'D anx 7'H 1 \$0.00 T \$0.00 I'M and Props - Crystal Porture Bottle 3.75'h 01 2 \$0.00 T \$0.00 I'M and Props - Crystal Perfume Bottle 9.5'h 5'x 3'x 8.75'H 1 \$0.00 T \$0.00 I'M and Props - Crystal Perfume Bottle 9.5'h 5'x 3'x 8.5'H 1 \$0.00 \$1.100.00 \$1.100.00 Services			1	\$0.00	Т	\$0.00
Image:			1	\$0.00	Т	\$0.00
Index R W 148R R ± 108R R H Index R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R H Image: R W 148R R ± 108R R ± 108R R H Image: R W 148R x ± 108R R ± 108R t =			2	\$0.00	Т	\$0.00
#W x 3.5'H #Ind Props - Gold Crystal Candy Bowl 6 \$0.00 T \$0.00 ©Diam x 7'H 1 \$0.00 T \$0.00 #Ind Props - Waterford Crystal Tray 1 \$0.00 T \$0.00 #Ind Props - Waterford Crystal Tray 1 \$0.00 T \$0.00 #Ind Props - Crystal Footed Candy Bowl 2 \$0.00 T \$0.00 \$'x 5/8'h 1 \$0.00 T \$0.00 #Ind Props - Crystal Perfume Bottle 3.75"h 01 2 \$0.00 T \$0.00 \$'x 5/8'h 1 \$0.00 T \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$	K		1	\$0.00	Т	\$0.00
S*Diam x 7H Image: Straig of the st			4	\$0.00	Т	\$0.00
9*x133/4" Y Hand Props - Crystal Footed Candy Bowl 2 \$0.00 T \$0.00 5'x 5/8"h 2 \$0.00 T \$0.00 Image: Signal Constraints of the signal Consis of the signal Constraints of the signal Constraints	A		6	\$0.00	Т	\$0.00
5' x 5/8'h Hand Props - Crystal Perfume Bottle 3.75"h 01 2 \$0.00 T \$0.00 3.5" x 3" x 3.75"H 1 \$0.00 T \$0.00 Image: Strain Strai			1	\$0.00	Т	\$0.00
3.5" x 3" x 3.75"H 3.5" x 3" x 3.75"H 1 \$0.00 5" x 3" x 9.5"H 1 \$0.00 Services March 31st - Chandelier hanging 2 2 \$550.00 April 1 - Install 10 4 \$550.00 X1,100.00 April 2nd - Touchups 2 2 \$550.00 X1,100.00 April 3rd Strike 10 10 \$650.00 X2,320.00 \$1,100.00 X2,320.00 \$1,200.00	Ŷ		2	\$0.00	Т	\$0.00
5" x 3" x 9.5"H Total Props for book shelf \$1,900.00 Services X X X X X X X X X X X X Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y Y <thy< th=""> Y Y</thy<>	Î		2	\$0.00	Т	\$0.00
Services 2 \$550.00 \$1,100.00 April 1 - Install 10 \$650.00 \$6,500.00 April 2nd - Touchups 2 \$550.00 \$1,100.00 April 3rd Strike 10 \$650.00 \$6,500.00 Truck & Gas Surcharge 4 \$580.00 T \$2,320.00 Manager Fees: Revisions, Meetings, productions, on site 1 \$750.00 \$750.00	Ā		1	\$0.00	Т	\$0.00
March 31st - Chandelier hanging 2 \$550.00 \$1,100.00 April 1 - Install 10 \$650.00 \$6,500.00 April 2nd - Touchups 2 \$550.00 \$1,100.00 April 3rd Strike 10 \$650.00 \$6,500.00 Truck & Gas Surcharge 4 \$580.00 T \$2,320.00 Manager Fees: Revisions, Meetings, productions, on site 1 \$750.00 \$750.00			Total F	Props for book s	helf	\$1,900.00
April 1 - Install 10 \$650.00 \$6,500.00 April 2nd - Touchups 2 \$550.00 \$1,100.00 April 3rd Strike 10 \$650.00 \$6,500.00 Truck & Gas Surcharge 4 \$580.00 T \$2,320.00 Manager Fees: Revisions, Meetings, productions, on site 1 \$750.00 \$750.00	Services					
April 2nd - Touchups 2 \$550.00 \$1,100.00 April 3rd Strike 10 \$650.00 \$6,500.00 Truck & Gas Surcharge 4 \$580.00 T \$2,320.00 Manager Fees: Revisions, Meetings, productions, on site 1 \$750.00 \$750.00		March 31st - Chandelier hanging	2	\$550.00		\$1,100.00
April 3rd Strike 10 \$650.00 \$6,500.00 Truck & Gas Surcharge 4 \$580.00 T \$2,320.00 Manager Fees: Revisions, Meetings, productions, on site 1 \$750.00 \$750.00		April 1 - Install	10	\$650.00		\$6,500.00
Truck & Gas Surcharge4\$580.00T\$2,320.00Manager Fees: Revisions, Meetings, productions, on site1\$750.00\$750.00		April 2nd - Touchups	2	\$550.00		\$1,100.00
Manager Fees: Revisions, Meetings, productions, on site 1 \$750.00 \$750.00		April 3rd Strike	10	\$650.00		\$6,500.00
		Truck & Gas Surcharge	4	\$580.00	Т	\$2,320.00
			1	\$750.00		\$750.00

Description	Qtty	Price	Total
Flameproof Certification	1	\$350.00	\$350.00
Please make checks payable to Revelry, Inc.		Total Products:	\$54,545.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		bor/Services/Misc:	\$18,620.00
		/ear & Tear (5.00%):	\$2,727.25
		Packing (2.00%):	\$1,090.90
Notes		Taxes :	\$5,402.18
50% (\$38,029.69) deposit due at confirmation . Remainder balance due 3 days prior to delivery.		Discounts:	nts: (\$0.00)
		Total:	\$82,385.33
		Payments:	(\$81,336.83)

\$1,048.50

Balance: